
VERSION # 21-09-03









#B  16pcs

Bolt M6  x 38mmBolt M6  x 45mm

#D  32pcs#C  4pcs

Gasket

#E  1pc #F  16pcs

Bolt M6  x 20mm

8pcs



#A  x 4pcs

#B  x 8pcs

#C  x2pcs

#D  x8pcs

#7  x 1pc

#8  x 1pc

 1pc

 1pc
 1pc

 1pc

JustinW
Typewritten Text
1) Align chair seat (#2) to right arm 

(#4), then secure by using bolts 

(#B) with washers (#D).

JustinW
Rectangle

JustinW
Typewritten Text
2) Align chair back (#1) to the right 

arm (#4) and seat (#2). Secure by 

using bolts (#B) with washers (#D) 

and bolts (#A) with bracket (#C).

JustinW
Rectangle

JustinW
Line

JustinW
Line

JustinW
Typewritten Text
3) Align left arm (#3) to the seat 

(#2) and back (#1). Secure by 

using bolts (#B) with washers 

(#D) and bolts (#A) with brackets 

(#C).

JustinW
Rectangle

JustinW
Line



#F  x 16pcs

#D  x16pcs

#E

#F

JustinW
Typewritten Text
Align legs (#6) to the top (#5), then secure 

by using bolts (#F) with washers (#D).

JustinW
Rectangle






